

Proposal To:

City of Joliet

For:

Ottawa Street Parking Deck Cameras

November 6, 2025



STAIRWELL 1

SCOPE

Install Cameras to view all levels in the stairwell and outside the elevator.

IMAGE	QTY	DESCRIPTION		PRICE	PRICE EXT	TOTAL
- CO	6	Axis Communications M4227-LVE 5MP with Night Vision & Heater	Outdoor Network Dome Camera	\$785.00	\$4,710.00	\$9,030.00
	6	Axis T94C01U Universal Mount		\$50.00	\$300.00	\$300.00
3-	6	Axis Communications T94S01P Condu	uit Back Box	\$130.00	\$780.00	\$1,320.00
	6	Orbis CAT5-CATV Single run of CAT5 fo	or cameras terminated at both ends	\$180.00	\$1,080.00	\$1,080.00
	1	Misc Misc Materials & Conduit Misc Maccameras to IDF box	aterials & Conduit for wiring from	\$6,000.00	\$6,000.00	\$6,000.00
		SUF	RVEILLANCE SYSTEM TOTAL			\$17,730.00
		STA	AIRWELL 1 TOTAL			\$17,730.00



STAIRWELL 2

IMAGE	QTY	DESCRIPTION		PRICE	PRICE EXT	TOTAL
	5	Axis Communications M4227-LVE 5MP C with Night Vision & Heater	Outdoor Network Dome Camera	\$785.00	\$3,925.00	\$7,525.00
	5	Axis T94C01U Universal Mount		\$50.00	\$250.00	\$250.00
3.	5	Axis Communications T94S01P Conduit	t Back Box	\$130.00	\$650.00	\$1,100.00
	5	Orbis CAT5-CATV Single run of CAT5 for	cameras terminated at both ends	\$180.00	\$900.00	\$900.00
	1	Misc Misc Materials & Conduit Misc Misc Misc Materials & Conduit Misc Misc Misc Misc Misc Misc Misc Misc	erials & Conduit for wiring from	\$6,000.00	\$6,000.00	\$6,000.00
		SUR	VEILLANCE SYSTEM TOTAL			\$15,775.00
		STAI	IRWELL 2 TOTAL			\$15,775.00



STAIRWELL 3

IMAGE	QTY	DESCRIPTION	PRICE	PRICE EXT	TOTAL
	5	Axis Communications M4227-LVE 5MP Outdoor Network Dome Camera with Night Vision & Heater	\$785.00	\$3,925.00	\$7,525.00
	5	Axis T94C01U Universal Mount	\$50.00	\$250.00	\$250.00
3.	5	Axis Communications T94S01P Conduit Back Box	\$130.00	\$650.00	\$1,100.00
	5	Orbis CAT5-CATV Single run of CAT5 for cameras terminated at both ends	\$180.00	\$900.00	\$900.00
	1	Misc Misc Materials & Conduit Misc Materials & Conduit for wiring from cameras to IDF box	\$6,000.00	\$6,000.00	\$6,000.00
and the second	1	Altelix NF201612V-DIN 20x16x12 Vented Industrial DIN Rail Fiberglass Enclosure	\$460.00	\$460.00	\$820.00
E	1	Cisco C9200CX-12P-2X2G-E Cisco Catalyst 9200CX - Network Essentials - switch - compact - 12 ports - managed - rack-mountable (Customer Supplied)	\$0.00	\$0.00	\$360.00
and the state of	1	Cisco PWR-IE65W-PC-AC= Cisco AC-DC Power Module for POE solution - power adapter - 65 Watt (Customer Supplied)	\$0.00	\$0.00	\$0.00
	1	Cisco IEM-3300-8T Cisco Catalyst - expansion module - Gigabit Ethernet x 8 (Customer Supplied)	\$0.00	\$0.00	\$180.00
	2	Cisco SFP-10/25G-LR-S 10GBASE-LR SFP28 Module for Single Mode Fiber (customer supplied)	\$0.00	\$0.00	\$0.00
	1	Orbis 6Strand Six Strand Outdoor Fiber installed point to point, Single Mode, Terminated	\$500.00	\$500.00	\$500.00
		SURVEILLANCE SYSTEM TOTAL			\$17,635.00
		STAIRWELL 3 TOTAL			\$17,635.00



FLOOR 1

SCOPE

Install and configure six Multiview cameras in the ceiling of the parking deck and pipe back to IDF on the floor.

IMAGE	QTY	DESCRIPTION	PRICE	PRICE EXT	TOTAL
	4	Axis Communications 02635-001 AXIS P3738-PLE Panoramic Camera offers 4x4K (4x8 MP) sensors and is perfect for 360° and 270° surveillance. You'll be able to count on both high-quality overviews and detailed coverage thanks to the brilliant design of this cost-effective solution. With 360° IR illumination, the product provides excellent image quality around the clock, even in challenging lighting. With ARTPEC-8 and its deep learning processing unit, the product supports analytics and metadata on all sensors.	\$1,995.00	\$7,980.00	\$10,860.00
	4	Axis Communications AXIS T91B50 TELESCOPIC CEIL MNT Indoor/outdoor telescopic ceiling mount. Expands between 1 m (39") and 2 m (79"). Features a swivel action to prevent breaking if hit by forklifs or high vehicles. Can be mounted on a sloped ceiling. Accessory extension pipes (Not included) for a maximum lengh of 5 m (197"). Compatible with all Axis pendant kits featuring a 1,5" NPS thread and the AXIS T91A05 Camera holder for fixed cameras.	\$199.00	\$796.00	\$796.00
6	1	Axis Communications Q1808-LE 10MP Bullet IP Camera, 12-48mm Lens, White	\$2,200.00	\$2,200.00	\$2,740.00
	4	Axis Communications T94N01D AXIS Indoor/Outdoor Pendant Kit	\$110.79	\$443.16	\$443.16
3.	5	Axis Communications T94S01P Conduit Back Box	\$130.00	\$650.00	\$1,100.00
	5	Orbis CAT5-CATV Single run of CAT5 for cameras terminated at both ends	\$180.00	\$900.00	\$900.00
	1	Misc Misc Materials & Conduit Misc Materials & Conduit for wiring from cameras to IDF box	\$13,500.00	\$13,500.00	\$13,500.00
1.000 5 1.000 5 1.000 5	1	Cisco C9200CX-12P-2X2G-E Cisco Catalyst 9200CX - Network Essentials - switch - compact - 12 ports - managed - rack-mountable (Customer Supplied)	\$0.00	\$0.00	\$360.00



IMAGE	QTY	DESCRIPTION		PRICE	PRICE EXT	TOTAL
and the state of t	1	Cisco PWR-IE65W-PC-AC= Cisco AC-DC Power power adapter - 65 Watt (Customer Supplied)	Module for POE solution -	\$0.00	\$0.00	\$0.00
	1	Cisco IEM-3300-8T Cisco Catalyst - expansion 8 (Customer Supplied)	module - Gigabit Ethernet x	\$0.00	\$0.00	\$180.00
	2	Cisco SFP-10/25G-LR-S 10GBASE-LR SFP28 M (customer supplied)	odule for Single Mode Fiber	\$0.00	\$0.00	\$0.00
		SURVEILL	ANCE SYSTEM TOTAL			\$30,879.16
		FLOOR 17	OTAL			\$30,879.16



FLOOR 2

SCOPE

Install and configure eight Multiview cameras in the ceiling of the parking deck and pipe back to IDF on the floor.

IMAGE	QTY	DESCRIPTION	PRICE	PRICE EXT	TOTAL
	6	Axis Communications 02635-001 AXIS P3738-PLE Panoramic Camera offers 4x4K (4x8 MP) sensors and is perfect for 360° and 270° surveillance. You'll be able to count on both high-quality overviews and detailed coverage thanks to the brilliant design of this cost-effective solution. With 360° IR illumination, the product provides excellent image quality around the clock, even in challenging lighting. With ARTPEC-8 and its deep learning processing unit, the product supports analytics and metadata on all sensors.	\$1,995.00	\$11,970.00	\$16,290.00
I	6	Axis Communications AXIS T91B50 TELESCOPIC CEIL MNT Indoor/outdoor telescopic ceiling mount. Expands between 1 m (39") and 2 m (79"). Features a swivel action to prevent breaking if hit by forklifs or high vehicles. Can be mounted on a sloped ceiling. Accessory extension pipes (Not included) for a maximum lengh of 5 m (197"). Compatible with all Axis pendant kits featuring a 1,5" NPS thread and the AXIS T91A05 Camera holder for fixed cameras.	\$199.00	\$1,194.00	\$1,194.00
	6	Axis Communications T94N01D AXIS Indoor/Outdoor Pendant Kit	\$110.79	\$664.74	\$664.74
	6	Orbis CAT5-CATV Single run of CAT5 for cameras terminated at both ends	\$180.00	\$1,080.00	\$1,080.00
?.	6	Axis Communications T94S01P Conduit Back Box	\$130.00	\$780.00	\$1,320.00
	1	Misc Misc Materials & Conduit Misc Materials & Conduit for wiring from cameras to IDF box	\$13,500.00	\$13,500.00	\$13,500.00
t	1	Cisco C9200CX-12P-2X2G-E Cisco Catalyst 9200CX - Network Essentials - switch - compact - 12 ports - managed - rack-mountable (Customer Supplied)	\$0.00	\$0.00	\$360.00
L. Sagran	1	Cisco PWR-IE65W-PC-AC= Cisco AC-DC Power Module for POE solution - power adapter - 65 Watt (Customer Supplied)	\$0.00	\$0.00	\$0.00



			FLOOR 2 TOTAL			\$34,908.74
			SURVEILLANCE SYSTEM TOTAL			\$34,908.74
	1	Orbis 6Strand Six Strand Outdoor Mode, Terminated	Fiber installed point to point, Single	\$500.00	\$500.00	\$500.00
	2	Cisco SFP-10/25G-LR-S 10GBASE-L (customer supplied)	R SFP28 Module for Single Mode Fiber	\$0.00	\$0.00	\$0.00
IMAGE	QTY	DESCRIPTION		PRICE	PRICE EXT	TOTAL



ACCEPTANCE

LINIANICIAI

PAYMENT SCHEDULE	EQUIPMENT TOTAL SHIPPING TOTAL	\$93,437.90 \$0.00
60% due at contract, remainder due upon completion	LABOR TOTAL	\$23,490.00
	SUBTOTAL TOTAL SALES TAX PROJECT TOTAL	\$116,927.90 \$0.00 \$116,927.90

TERMS

I accept this proposal and hereby authorize Orbis Solutions Inc to proceed with the delivery of the included systems at the facilities of City of Joliet at, IL as described in the totality of this document. It has been made clear to me that there exist no understandings regarding this project with any relevant party unless and until City of Joliet and Orbis Solutions Inc agree to such additional or alternate understandings in writing. I agree that any additions to and/or deletions from the materials and labor to be provided by my acceptance of this proposal and any resulting change(s) in cost of this project shall only be by way of written change order(s) and shall be valid only after being signed by City of Joliet and Orbis Solutions Inc. This proposal is valid only if accepted in writing by City of Joliet.

ACCEPTANCE

CITY OF JOLIET

SIGNED	DATE
PRINT NAME	TITLE
ORBIS SOLUTIONS INC	
SIGNED	DATE
PRINT NAME	TITLE